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L | I cax | L " B I cag |
‘[ ] .}\’:’1}11& MOJIOYHAs FepKyJiecoBasd 150 200 1. Kama repxynecopas/kaiia rpeyneBas KuaKas 1 50/150 2007260
| = 2. Yaii ¢ caxapoM, MOJIOKOM 150 180 2. Yaii ¢ caxapom 150 180
? 3 - X11e0 MIueHUYHbIA 20 30 3. Xuieb nImenuyH bl 20 30
S 4 Crip 10 4. Crip 10
5. Macno camBoYHOe .‘ A 5. Macio cnmBouyHOe 5
Y | 1. Xu1e6 pkaHoi ¢ paCTUTENBHBIM i 20/4 30/5 1. Xe6 prxanoit/xsed NiIeHuIHbIH 20/4 30/5
= § | MacIoM C PaCTUTEIBHBIM MACIIOM
1.bynpon u3 mHAeHKyU ¢ rpenkamu | 150/10 200/15 | 1.bynboH U3 CBUHWHBI ¢ TPEHKAMU 150/10 200/15
2. Puc ¢ oBomamMy 1 MHACHKOM 180 200 2. Puc ¢ oBOILAMYM ¥ CBUHMHOU 200
5 ' 3.KOMIIOT U3 Kypary 150 180 3. KoMmmoT u3 Kyparu/4aid ¢ caxapom 150/150 180/180
‘2 | 4. Xue6 pxaroit 20 30 4. Xneb prkaHoi/11111eH WYH bl 20/20 30/30
I
= 1. BUTaMHUHHBIM HATUTOK (U3IOM) 100 100 1. ButaMuHBBIN HATUTOK (W3FOM)/ 100/150 100/150
= gaii ¢ caxapom
=
=
1. CanaT U3 KOHCEPBHPOBAHHOTO 30 38 1. Canar U3 KOHCEpBUPOBAHHOTO 3€JICHOTO OPOIIKa 30 38
3eJICHOT0 rOpOILIKa
2. ITrope xapTodenprnoe ¢ MOJOKOM 140 170 2. ITrope xapTodeasHoe ¢ Maciom/ 140 170/130
= rpeya OTBapHAs C MacjoM
i 3.Yaii ¢ caxapoM 150 180 3.Yaii c caxapoM 150 180
4. Batpy1mika ¢ TBOPOrOM 60 90 4. BarpyIka ¢ TBOPOrom/ 60/ 90/
\ KOHIUTEPCKUE U3JEIIns 2 mr. 2 mT.




